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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

GROUP—A
( Marks : 21)

1. Answer the following as directed : 1x2=2
oo fraienq ot sepies Tes fin

(@) What is quasi-public good?
TP A 7 2
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(2)

(b) Sustainable development means
maximization of

IZTTY T R TGS To 2

(i) economic growth

S 3

(ii) income inequality

S (3T

(tit) productivity of assets

MR BN oSl

(iv) None of the above
89T OIS T
(Choose the correct answer)

(= TSB! AR Tfean)

2. Answer the following questions (each within
40 words) : 2x2=4

Soq 2PPTRd T faan (af et o e foevo) ¢

(a) Why is biodiversity important?
(e C3foay few wwgee 2
(b) Draw a graph to show a negative

production externality. On this graph,
show the ‘net welfare losses’.

NP T TSl SoF[Y IT o1 o
W 11| Bachre ‘oo T 2T AR

CTYSAT |
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(3)

3. Answer any three of the following questions

(each within 150 words) : 5x3=15
SR PR R @ fRtr Bew M (afedn
¢ o *Hq [$599) :

(@) What is environmental economics?
State the importance of studying

environmental economics. 2+3=5
“+Rc wiREmE 7 i 9Rsa SE=e
SFY TrEd Q|

(p) What is the relevance of the
Environmental Kuznets Curve (EKC) in
the Indian context? Explain. v

SR  CFAe AR FREGD @R
ePTRierTe &6 7 A 41 |

(c) Briefly discuss any two major
environmental protection  activities
undertaken in your country. S

(CMR P10 R [FER I@A I T

R @ 1 eFgd IRA RFErgS
SICATGAT FA7 |

(d) Explain the reasons for market failure
for environmental goods. S

AR WR FaS @H REFTOR IRTR
T T4 |
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(4)

(e) Discuss the implications of climate

change. 5
oAy RIS IRy a1 47 |
GROUP—B
( Marks: 21)

4. Answer any three of the following questions

(each within 250 words) : 7%x3=21
Ty PR R e bR Tex fum (=S
J¢o ] foogw) :

(a) Give an example each of negative
externality ‘and positive externality.
Does positive externality result in
market failure? Explain with example.

2+5=7

HIF AT HF YIYF AT AfSoR
GIIOIRE SHRT o | @ Ao IWR
fRperer m I 7 TIRIPTR I ]9 |

(b) Explain the environmental impact of
agricultural production activities with

example. 5+2=7
FR-Rzs Teoqma IRAR ~fR@W «if[{emw
TS THIRITTR TR HSRCGIAT |
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(5)

(c) Distinguish between optimal level of
pollution and efficient level of pollution.
Explain diagrammatically how the
optimal level of pollution is determined.

4+3=7

I AET T AF T AT T AGS AN
fads w11 3w a@a & R [dRa =,
foamT= w41 1

(d) Explain the free-rider problem in terms
' of the prisoner’s dilemma game. 7

e oiReWE WiEe YS-SERd APHIo!
T 1 1

(e) Write a comprehensive note on
' Environmental Impact Assessment

(E1A). 7
ﬁﬁmmmeﬂraﬁmmcﬁm
foram 1

* % %
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